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I. Bellringer: Answer questions 38-44 on p. 20. Use your answers to complete the handout that you received at the door.  TURN THIS IN FOR A GRADE WITH YOUR VOTE ON THE BACK!
Name____________________________________________




Hour_________________

Either write the symbol in the blank OR draw a line from the answer/explanation to the question from Passage III. Copy the explanations in your ACT book.
38. ________

39. ________

40. ________

41. ________

42. ________

43. ________

44. ________ 

!.  None of the other choices fit grammatically or when reading the sentence aloud. (F) 

@. If you take out the dependent clause, it’s the only choice that makes sense in context. (B)  

#. If you don’t change it, it would be a fragment; this is the best choice that makes it a complete sentence. (B)

$. The phrase is specifying on “variety of…” (F) 

%. The phrase adds information; if the information weren’t there, you would not know what the rest of the paragraph was talking about. (C) 

*.  The phrase needs to be changed because the phrase is not contradicting the thought before it; none of the other choices fit in context, either. (J)
~. The phrase that is there does not make sense in context; the conjunction signifies that it will be adding new information. (J) 
VOTE: On the back of your handout, please write the number (or numbers) of the ACT activity (or activities) that you like and also write a suggestion as to what you think would make ACT prep better. 

1. Group Discussion: Each group coming up with an explanation for a question and sharing their explanation with the class. 

2. Stand-up/Sit-down: Picking between two answers and standing for which answer you picked.
3. Notes: taking notes on the explanation from the ELMO. 
4. Matching: the activity you just did 
5. 4 Corners: the activity we did yesterday; go to the corner of the answer choice that you pick with groups deciding on an explanation.        
Index Card Review: Use these model responses to help you write responses for today’s assignment. 
Dehumanizing diction
In line 90 the speaker says, “I grant this food will be somewhat dear.” The diction “food” dehumanizes the poor because animals are raised to become food, not people. 

Irony

Swift uses irony in line 90 when the speaker says, “I grant this food will be somewhat dear” because the speaker means that the “food,” or poor Irish babies, will be very expensive, while Swift really means that all humans are valuable and should be treated as such. 
Answer these three questions using ll. 1-117 of “A Modest Proposal.” Then, choose one of these three questions to explain.

[image: image1.png]What does the author say isthe occupation of most Irish mothers?
2 faming

b buchering

¢ stealing

4. begging

How does the authar use satrein this excarpt?

“these children ae seldom the fiuits of marrage, a circumstance not much regarded by our own savages”
2 He uses verbal irony with the term “savages.”

b, Hemakes fun ofthe institution of marriage.

c. Heisironic when describing children as it

4. He uses humorto describe savage children.

One way that the author supports his proposiion i by notng that using poor kish children inthis manner
will resultin an increasein

the mumber of Papists

material or gloves

rags for the poor

‘married couples

anoe

Choose one of the following questions to explain. If you explained #2 above, then you MUST explain
#5. 1 you explained either #1 or #3, than you MUST explain #4.




Now answer these two questions. And explain #4 if you explained 1 or 3 above OR #5 if you explained #2 above.

[image: image2.png]e
a. He suggests that infant flesh will be more plentifl in March.
b, He proposes various methods of preparing carcasses,including frcassee.
. He proposes purchasing live cildren and dressing them hot from the knife
d. He suggests that infant flesh be served at weddings and christenings.

5. Swift supports his proposition that the fish will benefit rom his plan by
2 explaining that breeders will no longer have to pay rent
b proposing overall reductions n the numbers of Papists
c. calculating the average rate of profit to mothers per child.
4. proposing the establishment of shambles in Dublin




Read ll. 118-218. For Homework:

In your work book, mark and label: your favorite part, the most confusing part, 2 understatements, 2 examples of irony, and circle or highlight important diction.
